1/0 do/dS

Ratio to OPAL

10

0.5

Rivet 3.1.10, = 3.4M events

197 GeV ee v*/Z (Hadronic
El I I I I I I I I I | I IE
_!\ _

\
— —
= . =
— ~— -
~ Ny ]
- m  OPAL T—n N
~—
— —A— Pythia 6.428 370 \ =
= A+ Pythia 6.428 373 . -
~ --0-- Pythia 6.428 374 B
Pythia 6.428 375
= -4 - Pythia 6.428 381 =
— --¥-- Pythia 6.428 382 —
5 | | | | | | | | | | | | E
:l T T T | T T T | T T T | I:
— = ‘!,,/!'——-——————!\\ /”M i
—

| 1 1 1 | 1 1 1 | 1 1 1 | 1

0 0.2 0.4 0.6

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


